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Candidates are required to give their answers in their own words
as far as practicable.
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Group - A
Module -1 & 11

Answer the following questions., 1720

» A 1 ] . ’ . . - .
ceording to the Kinked-Demand Curve model, a firm will assume that rival firm will

(A) Keep the rates of production constant (B) Keep their cost constant

(C) Match price cuts but not price increase (D) Match price increase but not price cut.
Which of the following is not a feature of less developed nations?

(B) Excessive dependence on agriculture

(D) Mass poverty and unemployment.

(A) High rate of population growth
(C) Huge technological development
The Swarna Jayanti Sahari Rozgar Yojana (SJSRY) scheme was launched in

(A) 1997 (B) 1999

(C) 2001 (D) 2003

When the unemployment arises due to the people’s inclination to work at a higher wage rate, it is knowmn
as

(A) Seasonal unemployment
(C) Voluntary unemployment

(B) Structural unemployment
(D) Frictional unemployment.

A profit maximising firm hires labour up to the point, where

(A) Price equals wage rate.

(B) Price equals quantity of labour
(C) The wage times the quantity of labour equals the marginal productivity

(D) Wage equals the Value Marginal Product (VMP)

In monopoly market which of the following is true?

(A) There is only one seller
(B) There is barrier to entry of new firms in the market
(C) Both AR and MR curves are downward and MR curve lics below the AR curve

(D) All of the above,
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Trade, hotel and restaurants a
(A) Primary sector . e

(C) Tertiary sector

ic, i ill be
¢ if demand 15 inelastic, 15 MR will
(B) Zero
None of the above-
s mainly related to

In monopoly marke
(A) Positve .
D)

(C) Negative
overnment of India 1

Narasimham Committee appointed by G
(B) Tax Reforms

(A) Financial Sector Reforms
(D) Primary gector Reforms.

(C) External Sector Reforms

The NITI Ayog stands for
(A) National Institution of Transforming India

(B) National Integrated Tribal Initiative
(C) National Institute of Technical Initiative

(D) National Industrial and Technological Institute.
nks were initially nationalised in India in 19697

How many commercial ba

(A) 20 (B) 28

(C) 14 (D) 6

What percentage of India’s population lives under international poverty line?
(A) 40% o (B) 30%

| (D) 20%

(C) 25%
Which of the following is not a part of the land reform policy in India?
(B) Imposition of land ceiling

(A) Tenancy reform
c .
(C) Regulation of rent (D) Imposition of agricultural tax.

1

For an indivi ’ . L
an individual’s labour supply curve, if substitution effect is weaker than income effect fx
ct for a rise i

wage rate, then the labour supply will
(B) fall

(A) rise
(D) zero

(C) remain the same
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Which of the following is not a feature of I

- monopolistic competition?
(A) Existence of selling cost

B v .

(B) Excess capacity in the long run

(C) Presence of perceived and proportional demand curve

(D) Long run equilibrium occurs at the minimum point of the LAC curve.

In monopoly market at equilibrium price is
(A) equal to MC

(B) greater than MC
(C) less than MC

(D) less than MR.

The short run equilibrium under monopoly occurs at
(A) rising portion of MC only (B) falling portion'of MC only
(C) horizontal portion of MC only (D) rising portion of AC.

The Ricardian Rent Theory assumes that

(A) the supply of land is given (B) land has alternative uses
(C) rent does not determine the crop-price (D) (A) and (C)

In Oligopoly market, Cartel is a form of
(A) Pure Oligopoly (B) Differentiated Oligopoly
(C) Collusive Oligopoly (D) Non-collusive Oligopoly.

If the Gross National Product is ¥ 750 crores and the depreciation is ¥ 75 crores the Net National

Product will be

(A) T 825 crores (B) X 675 crores
(C) T 10 crores e (D) ¥56,250 crores.
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Answer the following questions.

tion for price-discriminatlon?

1. Which of the following is not a condi
(B) Existence of different sub-markets

(A) No reselling .
ntry restriction

(C) Government regulation or intervention (D) Distance and e

. in the ‘Kinked Demand’
2. The higher the elasticities of demand of the two portions of the demand curve 1n

curve model.
(A) Lower will be the range of discontinuity of MR curve

(B) Higher will be the range of discontinuity of MR curve B
(C) Higher will be the range of discontinuity of AR curve ’

(D) Lower will be the range of discontinuity of AR curve.

3. In a mixed economy we observe
(A) A socialistic structure
(B) A capitalistic structure
(C) Coexistence of capitalistic and socialistic structure

(D) None of the above.

4. Point out the wrong statement :
(A) Monopolistic competition is a mixture of monopoly and perfect competition

(B) Duopoly market is a market of two sellers
(C) Oligopoly market-is a market of few buyers
(D) None of the above.

5. Green revolution in India occurred in the
(B) mid-fifties

(A) mid-sixties
(D) mid-eighties.

(C) mid-forties
6. The full form of NABARD is and it was established in the year

(A) National Bank for Agricultural Research and Development, 1985

(B) National Bank for Agricultural and Rural Development, 1982

(C) National Bank for Assigning Rural Density, 1982
(D) National Bureau of Agricultural Research and Development, 1985
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(A) Net Profit = ect?

(B) Net Profit =
(C) Net Profit =
(D) (A) and (B).

TOtal prof
1t —
€0st of factors supplied by the entrepreneure

Total profit — total cost

Which i
(5 p =°E:E:;u;éj;$1i rgn equilibxjiujm of a firm under monopolistic competition?
(B) P LAGSLbce fs no.t .mmlmum and LMC is rising
MR, LAC is minimum and LMC is rising
©)P= LAC<LMC=MR, LAC is minimum and LMC is rising
(D) P=LAC<LMC=MR, LAC is not minimum and LMC is falling.

If MR = 0 for all levels of output, TR curve will be
(A) inverted U _ (B) straight line passing through the origin
(C) parallel to the horizontal axis (D) rectangular hyperbola.

Which of the following is the features of Oligopoly market?

(i) Few sellers and many buyers (i) Barriers to entry of new firms

(iii) Indeterminate demand curve (iv) no selling cost.
(A) only (i) (B) (i), (ii) and (iii)
(C) (i), (ii) and (iv) (D) AlL

If the equation of a demand curve in the monopoly market is given by P = 10 — 4Q, then what will be

the slope of the marginal revenue curve?
(A) =2
(&R

(B) -8
(D) 2.5

The sum total of the money values of goods and services produced within the geographical boundary

of the nation in a given fiscal year is known as
(B) Per capita income

(D) GDP.

(A) National income
(C) GNP

Which of these information about primary sector in India is not true?

(A) Majority of the population in India is engaged in the primary sector

(B) The contribution of the primary sector to ‘the national income is continuously falling
(C) Primary sector includes transport and communication

(D) Primary sector uses primitive method of technology.



{h‘g(zh Sm.}-Microeconom

R

14.

16.

17.

18.

19.

20.

21.

(D-14)

NREGA was passed in
(A) 2000 (B) 2005 >
(C) 2010 (D) 2015
The GDP deflator means
al GDP - Real GDP

(B) Nomin

(A) Nominal GDP + Real GDP
(D) Nominal GDP / Real GDP

(C) Nominal GDP * Real GDP
-Demand Curve Model is used to define

In Oligopoly market, the Kinked
(B) equilibrium quantity

(A) the equilibrium price
(C) price rigidity ' (D) equilibrium cost. |
Which of the following is not true for real interest rate? “\P
(A) It is the inflation adjusted interest rate

(B) It is lower than nominal interest rate if inflation rate is positive

(C) Inflation has a negligible impact on it

(D) It can be negative.

For a monopoly firm P =Y 20, MR =% 10 for any particular level of output and of MPP =10, then

(A) VMP =200, MRP =100 (B) VMP =200, MRP = 200

(C) VMP = 100, MRP = 200 (D) VMP = 100, MRP = 100.

HDI stands for

(A) Hcalth Development Initiative (B) Human Development Index

(C) Hindustan Devclopment Institute (D) Hindustan Defence Institute

Poverty line refers to the }
L)

(A) A demarcation line that scparates the poverty affected areas from other areas on the map‘ -

(B) Minimum amount of calorie required by an adult person per day
(C) Minimum level of income required by a person to meet the basic necessities for a living

(D) Percentage of poor people in the population of a country.

If the price elasticity of demand = 2, price = ¥ 5, the value of marginal revenue
(B) 2.5

D) 0

(A) 10
(C) 7.5
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(A) Insurance RegUIatO

(B) a loss in consumer’s surplus

(C) aloss in producer’s surplus

(D) a loss in consumer’s surplus and producer’s surplus in relation to competitive market.

Which of these are not an effect of Green Revolution?
(A) Unchanged Crop pattern (B) Regional disparity
© Self-sufficiency in production (D) Application of modern techniques.

If the supply of the factor is perfectly elastic, then

(A) Economic rent = 0 (B) Economic rent = Transfer earning

(C) Economic rent = Actual earning (D) None of these.

If NNP at market price = 600 crores, indirect tax = 100 crores, subsidy = 50 crores, what is the value
of national income?

(A) X 750 crores (B) 550 crores

(C) T 650 crores o (D) X700 crores.

The National Programme of Nutritional support to Primary Education is commonly known as
(A) Mid-Day Meal Scheme . (B) Antodaya Anna Yojana
(C) Food for Work Scheme (D) Public Distribution Scheme.
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28. Consider the following table :
Units of factor | Daily wage rate () | TFC _/:I:E-rﬁ}tET
1 400 400 | 400 | 400
2 400 800 ? 400
3 400 7 1400 ?
What is the TFC, AFC and MFC for 3rd unit, 2nd unit, and 3rd unit respectively?
(A) 1200, 400, 400 (B) 400, 800, 1200
(C) 800, 400, 1200 (D) 1200, 800, 400.
29. Which of the following is not a private sector company?
(A) TATA Steel (B) Indian Railways
(C) Reliance Jio (D) Ambuja Cerﬁent.
30. The most popular index of economic development is
(A) HDI (B) PQLI
(D) GDI

(C) Per-capita real NI




